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Is each number a solation of the given inequality?

Name Date

Class

Chapter Test Form B

"C..O...I....‘.....'.O..l..'.....IO...‘I..D..Q.CD....D....'...‘...'.U.........Q..

Chapter &y

1. 3y + 4= -10 .
a. -2 : b2 -~ -~ 7 & 5

2. “5x+4=<9 _
a. ~2 b. 0. c. 3

Write an im;qualit.y to model each sitaation.
3. The package must weigh less than 25 Io.
4. The houses must be more than 12 ft apart.
5. Tickets to the movie cost at least §3.50.
6. The ‘;Nind speed is greater than 10 mi‘h.
Write an inequality for each graph. |
7.

~5—4-3-2-1 0 1

>

e S A
—5-4-3-2-1 0 1 2 3 45
8. gimfemmfmrmeime———t——
-2-1 0123456738

9. Ot p
~5-4-3-2-1 0 1 2 3 45

10. T >

T Ly §

2 345

Solve each inequality. Graph the solution,

12. Ty — 11 =17

11.'—%;; <12 13. —8 < 4k < 24
18. ~24 > 8 15, |a — 4] = 8 16. |4m + 2| = 14
17. -2=1—-4<3 - 18, Bx < 40and3 —x =2 19. —48 = 8y

20. 3 > 27 or —4r — 6 > 14 21. K+ 14 > 10 . . 22,97 =2z + 35
23, 17— x >3 28. 3y +9< ~7y - 11 25.2|d - 2| +3<9

Solve each inequaiity. Check your solution.
26, 6(y = 5) > 12 27. 3(dx — 2) = 2(5x — 8)
28. 70— (da+2)>8 29, 0.5(x + 4) — 3.4 = —2

30. Writing Explain how to solve |x| + 4 < 9.

“............’............o.‘.........’..................'..‘....'..'.".'..m
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Name . Class ) Date

Form:

i

' 'Chapter' Test (continued)

OOOOOI..o....l..clt...GlO.'.000.000.00!lloo.....cl.o....t'OOCOIOCQIQQ..

Chapter %0

Write a compound inequality that each graph could represent.

31, o+ @i
: —4-3-2-1-0 1 2 3
' 32, o Pt
—4-3-2-1 0 1 2

Solve each equation. Check your solution.

33, |x—3| =35 ' 34. [3x — 4] =38

35. |5c— 1| -3 =16 36. 6|8 — y| = 36

' ~ ‘ 3
37. Open-Ended Describe a real-life situation you could represent with the
inequality 5 = x = 15. '

38. Diana is earning money by mowing lawns. She charges $15 per yard.
Lawn mower rental costs $30. Write and solve an inequality to find the
minimum number of yards she must mow to make a profit of at least $49.

39. Doreen has started a part-time business making and selling bird feeders.
Her equipment costs $75. If she makes a profit of'$6 on each, how many
bird feeders must Doreen sell to make a total profit of more than $1357?
Write and solve an inequality for this situation.

40. 'The ideal diameter of a machine part is 13.05 mm. At the factory, the
quality control inspector is told that the actual diameter can vary from
ideal by at most 0.015 mm. Write and selve an absolute value inequality
tofind the range of acceptable diamefers.

41. Which of the following inequalities could be represented by the graph?

|

v
~2—-1 0

L -3y<~150ory<1
I jx-—3]>2

L. 5<2a+3<13 :
A. T only B.landll - C. Hand I D.Tand T |
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